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 NON-VERBAL INTELLIGENCE TEST

Direction: anson
State the serial no. of the figure in the second row which fill the blank space in the following cOmp
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Direction: - '
~ State the serial no. of the figure the second row which will continue the series of the promblem figures:
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Answer Palterns

Direction: '
State the serial no. of the figure which is different from the others
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43. Which one is different?
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Directions: : (s ‘
State the serial no. of the figure which will fill into the vacant space in the incomplete pattern:
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xplanation:

The arrow head chanc es its osntlon
The design moves to the other side of the line.

Dot and shaded portion show movement in the antlclock direction.
The figure is true upside down. :
The plus (+) sign moves in a clockwise direction.

Figure A is made up of four straight lines and fig B contains four circles Figure C is made up of
the straight lines and D should contain three circles. |

Figure A is routed through an angle of 900 in the clock B. Flgure wise dlructlon to get figure C
should be rc.ated through an angle of 90° to give figure C.

Figures 1 and 2 and 3 and 4 are similar so figure 5 is different.

As figure 1, 3 arc made up of 3 lines and fi gure., 2 and 4 are made up of 4 lmes Thcrefore figure 5
should be made up of 3 lines. '

One line with a circle first on left then on the nght decreases every time. So the next in the series
will be just a verticles line. - - -

The figure is revolving in anti- clockwise direction. |

When a to is removed (.) is added and when (°) is deleted dot’is added downwards

The graph is rising by one unit. | | .

The figure is revolvmg In clockwnse direction. '
With the exception of “C” each other ﬁg@ has leg shaped triangle at the base
In all other figures except “C” there is a shaded triangle. - g

Except ‘D’ all other figures are conical." TR
Except in ‘A’ in all other figures there are two triangle and two arrows.

At one end of these triangle there i1s something. Onl exception is E.
In other figures there are only two hands. -

In all fig ires flag like portion 1s either on the left or right. | e e






